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For questions 1 to 4 assume that Rf = 5%, that the expected return on the market portfolio is 15% and that the face value of any bonds is $1,000. Assume the CAPM is true.
1. Diversification, Inc. has the following capital structure:

	Security Type
	Market Price
	Number outstanding

	Common stocks
	$25/share
	12,000,000

	Bonds
	$1,100/bond
	300,000


Assume Diversification’s common stock has a ( = 1.40. Diversification’s bonds have a stated coupon rate of 10%; coupons are paid semi-annually; and the bonds mature in 12 years.
a) Calculate the expected returns for Diversification's common stock.
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b) Calculate the yield to maturity for Diversification's bonds. Express your answer as an effective annual rate.
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2. One of Diversification’s competitors, Consolidated Corp., has a capital structure that consists of $200 million of debt in the form of bonds and $300 million of equity in the form of common stock. The expected returns on Consolidated’s securities are E[RB] = 8% and E[RS] = 18%. The ( of Consolidated’s common stock is 1.30.

a) Calculate the ( of Consolidated's bonds.
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b) Assume a world with no taxes. Calculate the WACC of Consolidated Corp.
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c) Calculate the weighted average of the ('s of Consolidated's securities.
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d) Determine the ( of Consolidated's assets.
(asset = 0.9
e) Another security has the same expected return as the WACC of Consolidated; what must be the security’s (?

(i = 0.9
3. Gander Corp. (with a (asset =1.6) is exploring investing in a project with the following data:
Initial equipment cost:
$14 million

Incremental revenue:
$6.0 million/year for 4 years
Corporate tax rate:
0%

a) Assume the risk of the project is the same as the overall market risk as the firm.
i) Calculate the project’s NPV.
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ii) Calculate the project's IRR.
25.67933694%
iii) Determine the appropriate hurdle rate to be used in an IRR evaluation.
21%
iv) Using an IRR evaluation should you accept or reject the project?
accept
v) Explain your decision in iv) above.
IRR > hurdle rate
b) Assume the project’s ( = 0.6.

i) Determine the appropriate hurdle rate to be used in an IRR evaluation.
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ii) Using an IRR evaluation should you accept or reject the project?
accept
iii) Explain your decision in ii) above.
IRR > hurdle rate
c) Assume the project’s ( = 2.6.

i) Determine the appropriate hurdle rate to be used in an IRR evaluation.
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ii) Using an IRR evaluation would you accept or reject the project?
reject
iii) Explain your decision in ii) above.
IRR < hurdle rate
d) Identify two kinds of mistakes that could be made if all projects of a firm were analyzed with the firm’s WACC even though the projects’ risks may be different than the average firm risk level.
Accept too many high risk projects.
Reject too many low risk projects.
4. Binkley Corp. is viewing the following project:
Initial investment:
$16 million

Incremental revenues:
$7 million/year for 5 years

Corporate tax rate:
40%

CCA rate applied to initial investment:
30%

Binkley is financed 35% debt and 65% equity, its βdebt = 0.6 and its βequity = 1.7.
a) Calculate the appropriate WACC for the project.
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b) Calculate the project's NPV assuming all cash flows (including CCA tax shields) are of the same risk as the firm as a whole. (Assume the project’s assets are never sold.)

[image: image14.wmf]62

.

511

,

384

,

1

$

77

.

910

,

825

,

3

85

.

600

,

558

,

13

000

,

000

,

16

1661

.

1

)]

1661

.

0

(

5

.

0

1

[

3

.

0

1661

.

0

)

4

.

0

)(

3

.

0

(

000

,

000

,

16

)

1661

.

1

(

1

1

1661

.

)

4

.

1

(

000

,

000

,

7

000

,

000

,

16

PV

 

PV

investment

 

initial

NPV

5

shield

tax 

 

CCA

revenues

 

tax

after

=

+

+

-

=

+

×

+

+

ú

û

ù

ê

ë

é

-

-

+

-

=

+

+

=

-


c) If this project has a ( equal to one half of that of the firm (i.e., one half that of the ( of the firm’s assets), how would the discount rate and NPV change? Do not do any calculations.

The risk-adjusted discount rate will be lower, increasing the NPV as a result.
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